- BARREEEEEDHOEEF

Iﬂﬁﬁiﬁtbtﬁm?éﬁé

= — g X (M ((C)— AR (°C))
. i [kW] =
&« e - < i (kW] -
HY R AR
JRE QF JAE Q
Q[m'/min] i, FEUEIRRE (0°C, 1% E) DEEDJE =
Q' [m’/min], Q" [m’/min] i J&E [[ClickbZ{LLx§
- 273+ AL (°C) . 273+ IR ()C)
Q=Qx 273 @=Qx 273
W EFERFICERT DIES

QOFZ2ARIEDIEZIVELRTE (100%EANGES)

RBEEL V) DEO X

05 r
A IFRNORER [m?] D EAAER [h]
H[HWW]i%(%k@@ﬁuz(777L@Bkbé) 04 r
0.006X 53 [°C] Eoor
e _ . Tim E E&50
it LW >{:ﬁgiﬁﬁ%m1 H”Xﬂ =02
o E X100
XZOBEBIZHRTY, IFOME (NEEDE X PHEIRTE) (12
KoT, RELEHLET, o 50 100 150 200 250 300
BEE[C]
QOFDEHEICHELRSE
HE 4 oLy AT —
|
~
—
o
JRAN{R = 0 R A
O
— 7 2T NE
7 — 2 OREEE A [kg] HE kW] = 5.600.0003 5Lt T [h]
7 — 2 OE B [J /keC] OORDO0 At L 7P IR
(B) Ko DHZREZ AT e R W] = AX0.63
R X BAIOR A [ke] i W (]
(C) PHANDBEE = Hiw (kW] =FNOEKAFE [m2] XH [kW/m?]
H [kW/m?] 375 715063k 3
(D) —#HXick B u2RE
ML T, HRMOT Ly v a 27— e [ /mind X (PEEORE [C] —gm [C])
WY BHA i [kw] =

o (A) + (B) +

50

(C) + (D) OFELVBETT



